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Instructions :

ENGLISH VERSION

(1) Figures to the right side indicate marks.

(2) Show necessary calculations as a part of answer.

1  ADR Company is considering to invest ¥ 3,60,000 in a capital

20

project. The annual income after depreciation but before tax is as

follow:
Year 1 2 3 4 5
£4 1,80,000 | 1,44,000 | 1,08,000 | 72,000 | 1,00,000

Depreciation may be taken at 20% as per Straight Line Method.
The company's required rate of return is 10% and pays tax at
40% rate. You are required to evaluate the project according to

each of the following methods:

(1) Payback Period method
(2) Average Rate of Return method

(3) Net Present Value method
(4) Profitability Index method

The present value of ¥ 1 at 10% discount rate is as under :

Year 1 2 3 4 5
Present Value 0.909 [ 0.826 | 0.751 0.683 | 0.621
OR

1 Shiv Ltd. wants to purchase a new machine from the following 20
three machines :

Particulars Machine A | Machine B [Machine C
Cost of machine () 8,50,000 | 10,60,000 | 12,70,000
Useful Life (Years) 5 5 5
Scrap Value (%) 50,000 60,000 70,000
Earnings Before
Depreciation & Tax ) :

15t year 5,20,000 3,50,000 6,60,000

2nd year 4,00,000 4,00,000 7,80,000

3rd year 3,20,000 6,50,000 4,80,000

4th year 2,80,000 5,00,000 3,60,000

5th year 2,00,000 3,00,000 4,20,000
Corporate Tax 50% 50% 50%
Cost of capital 12% 12% 12%
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The present value of I 1 at 12% discount rate is as under :
Year | 2 3 4 5
0.893 | 0.797 [ 0.712 ]0.636 | 0.567

Present Value

You have to evaluate the above alternatives with following
methods:

(1) Net Present Value method

(2) Payback Period method

(3) Average Rate of Return method.

A manager of Ram Ltd. is trying to decide which project is 20
undertaken out of the three projects. Estimated net profit is as
follows:

Project Outcomes (Profit) ()

I I I
Project A 4,00,000 5,20,000 6,40,000
Project B 5,60,000 4,80,000 6,00,000
Project C 7,20,000 6,40,000 4,40,000
Probability 0.2 0.6 0.2

(a) Which project should be undertaken?
(b) Which project should be undertaken under pessimistic?
(c) Which project should be undertaken under optimistic?

OR
2 Shyam Company manufactures and sells of televisions. After 20
marketing analysis following results are found :
Market Nature | Annual Sales Probability
Strong 15,000 Units 30%
Moderate 12,000 Units 40%
Weak 10,000 Units 30%

Company has two alternatives as under:

(1) Production at Minimum Level

(i1)) Production at Maximum Level

If company works at minimum level, the variable cost per unit
will be T 34,000 and annual fixed cost will be I 3,00,00,000.

If company works at Maximum level, the variable cost per unit
will be T 32,000 and annual fixed cost will be I 4,00,00,000.
Company can fix selling price I 40,000 per unit. At which level
company should work to get maximum profit ?
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3  Krishna Construction Company is using PERT network for their 15
project. The following information is available :

Activity [ Normal Time (days)
1-2 10
1-3 8
1-4 9
2-5 8
4-6 7
3-7 16
5-7 7
6-7 7
5-8 6
6-9 5

7-10 12
8-10 13
9-10 15

You are required to :

(1) Draw a PERT network.
(2) Determine the early start and late start time.
(3) Find the critical path.

OR

3 Ghanshyam Ltd. is thinking for new computer system for control. 15
The Software Consultant Company has provided the following

information :
Activity | Immediate Estimated Durations (in weeks)
Activity | Optimistic | Most Likely | Pessimistic
A - 4 6 8
B A 5 7 15
C A 4 8 12
D B 15 20 25
E B 10 18 26
F C 8 9 16
G E 4 8 12
H D,F 1 2 3
I G H 6 7 8
You are required to:
(1) Draw a (PERT) network.
(2) Find the expected duration.
(3) Find the critical path.
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4  Write short notes : (any three)

(1) Advantages of Social Cost Benefit Analysis

(2) Scope of Social Responsibility Accounting

(3) Stages of social cost benefit analysis

(4) Social Audit

(5) Affecting factors to strategic decisions

(6) Strategic cost analysis.
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